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FPAR player PId;

process Game 1(2)

DCL count Integer := 0;

DCL num1, num2 Integer;

DCL temp Charstring;

DCL x Integer;

Random

*

(Wait.for.ack)

idle MYSCORE LOGOUT

Q YOURSCORE(count) OVER(player)

num1 := (CALL Random(1)); - Wait.for.ack

num2 := (CALL Random(2)); OVERACK

temp := mkstring(chr(48+num1)) // mkstring('+') // mkstring(chr(48+num2));

QUESTION(temp)

wait


[image: image2.emf];

FPAR player PId;

process Game 2(2)

wait

answer(x)

x = num1 + num2

count := count + 10;

idle idle

(True)

(False)


